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The average of 50 numbers is 75. If the average of first set of 25 numbers is 65,then what is the 
average of the second set of 25numbers?
50 संख्याओंकाऔसत 75 है। यदि 25 संख्याओं के पहले सेट काऔसत 65 है, तो 25 संख्याओं के
िूसरे सेट काऔसतक्या है?

1)105
2)95
3)85
4)75



A shopkeeper earns the same profit as well as loss by selling two similar pieces of a furniture for ₹18000 and 
₹10000, respectively. At what price should he sell it to earn a profit of 50%?
एक िुकानिार फनीचर के िो समान टुकडो ंको क्रमशः ₹18000 और ₹10000 में बेचकर लाभऔर हादन समान
अदजित करता है। 50% का लाभ अदजित करने के दलए उसे इसे दकसकीमत पर बेचना चादहए?

1)₹21,000
2)₹20,250
3)₹21,750
4)₹19,500



If 60% of a number is equal to 3/7 of another number, then what is the ratio of the two numbers?
यदि एक संख्याका 60% िूसरी संख्या के 3/7 के बराबर है, तो िोनो ं संख्याओंका अनुपातक्या है?

1)4:7
2)5:8
3)5:7
4)1:2



What is the value of (1 × 2 + 2 × 3 − 3 × 4 + 4 × 5 − 5 × 6 + 6 × 7)?
(1 × 2 + 2 × 3 − 3 × 4 + 4 × 5 − 5 × 6 + 6 × 7) का मानक्या है?

1)28
2)25
3)20
4)24



The total surface area of a hemisphere is 462 square cm. What is its diameter?
एकअर्िगोले का कुल पृष्ठीय के्षत्रफल 462 वगि सेमी है। इसकाव्यासक्या है?

1)14 cm
2)7 cm
3)17.5 cm
4)10.5 cm



A farmer sells wheat. He mixes the two types of wheat he grows. 30 kg of the first group costs him ₹900 and 
20 kg of the other group costs him ₹1100. At what price per kg should he sell the mixture so as to earn 25% 
on his average cost?
एक दकसान गेहं बेचता है। वह अपने द्वारा उगाए गए िो प्रकार के गेहं को दमलाता है। पहले समूह के 30 दकग्रा
की कीमत उसे ₹900 और िूसरे समूह के 20 दकग्रा की कीमत ₹1100 है। अपनीऔसत लागत पर 25%अदजित
करने के दलए उसे दमश्रणको प्रदत दकग्रा दकस मूल्य पर बेचना चादहए?

1)₹40
2)₹42
3)₹50
4)₹48



A hemisphere of radius 30 cm is moulded to form a cylinder of height 180 cm. The diameter of the 
cylinder is?
30 सेमी दत्रज्या के एकअर्िगोले को 180 सेमी ऊँचाई का एक बेलन बनाने के दलए ढाला जाता है।
बेलनकाव्यास है?

1)15 cm
2)10 cm
3)5 cm
4)20 cm



What is the total surface area of a cone which has a radius of 21 cm and a height of 28 cm?
एक शंकु का कुल पृष्ठीय के्षत्रफलक्या है दजसकी दत्रज्या 21 सेमीऔर ऊंचाई 28 सेमी है?

1)3696 cm2
2)1848 cm2
3)5544 cm2
4)7392 cm2



In a mixture of 100 litre of milk and water, the ratio of milk and water is 3 : 2.If this ratio is to be 1 : 
1, how much more water is to be added to the mixture?
100 लीटर िूर्और पानी के दमश्रण में िूर्और पानी का अनुपात 3 : 2 है। यदि यह अनुपात 1: 1 होना
है, तो दमश्रण में और दकतना पानी दमलाना है?

1)25 litres
2)15 litres
3)30 litres
4)20 litres



The price of a machine got depreciated by 50% in the 1st year, 33 1/3% in the 2nd year and 25% in 
the 3rd year. Overall, by how much has the machine depreciated?
एक मशीनकी कीमत पहले वर्ि में 50%, िूसरे वर्ि में 33 1/3% औरतीसरे वर्ि में 25%कम हो गई।
कुल दमलाकर, मशीनका दकतना मूल्यह्रास हुआ है?

1)66 2/3 %
2)80%
3)75%
4)50%



A train's average speed is 72 km/h but is reduced to 60 km/h due to stoppages. For how much time 
does the train stop in an hour?
एक टर ेन कीऔसत गदत 72 दकमी/घंटा है लेदकन रुकने के कारण घटकर 60 दकमी/घंटा हो जाती है।
एक घंटे में टर ेन दकतने समय के दलए रुकती है?

1)10 minutes
2)12 minutes
3)15 minutes
4)8 minutes



X did a task for 24 days and left it incomplete. He could have finished the task all by himself in a total of 36 
days. Y, who can finish the task alone in 18 days, will take how many more days to complete the task?
X ने 24 दिनो ं के दलए एककायि दकयाऔर उसे अरू्रा छोड दिया। वह कुल 36 दिनो ं में अकेले ही सभी कायि को
पूरा कर सकता था। Y, जो अकेले कायि को 18 दिनो ं में पूरा कर सकता है, कायि को पूरा करने में और दकतने
दिन लेगा?

1)9
2)6
3)12
4)8



A, B and C can complete a work alone in 400, 600 and 900 days respectively. In how many days can the work 
be completed if it is started by A and he is assisted by B and C on every second and third day respectively?
A, B और C अकेले एककायि को क्रमशः 400, 600 और 900 दिनो ं में पूरा कर सकते हैं। यदि कायि A द्वारा शुरू
दकया जाता हैऔर प्रते्यक िूसरेऔर तीसरे दिन क्रमशः B और C द्वारा उसकी सहायता की जाती है, तो कायि
दकतने दिनो ं में पूरा दकया जा सकता है?

1)292
2)270
3)240
4)293



What is the effective annual rate of interest corresponding to a rate of 10% per annum 
compounded half-yearly?
अर्िवादर्िकरूप से संयोदजत 10% वादर्िककी िर से प्रभावी वादर्िकब्याज िरक्या है?

1)10.75%
2)10.5%
3)10%
4)10.25%



X took a loan of ₹5000 on simple interest, the rate of interest being the same as the number of years for 
which the loan was taken. If the interest paid was ₹1800, then what was the rate of interest?
X ने सार्ारणब्याज पर ₹5000 काऋण दलया, ब्याजकी िर उतनी ही वर्ों की संख्या दजसके दलएऋण दलया
गया था। यदि भुगतान दकया गया ब्याज ₹1800 था, तोब्याजकी िरक्या थी?

1)6.5%
2)6%
3)5%
4)5.5%



The number of students studying subjects A, B and C in a school are in the proportion 12 : 15 : 16. There is a 
proposal to increase the number of students studying A, B and C, respectively by 50%, 20% and 50%. What 
will be the new proportion of the number of students studying A, B and C?
एक सू्कल में ए, बीऔर सी दवर्यो ंका अध्ययनकरने वाले छात्रो ंकी संख्या 12: 15: 16 के अनुपात में है। ए, बी
और सी में पढ़ने वाले छात्रो ंकी संख्या में क्रमशः 50%, 20% और 50% की वृद्धिकरने का प्रस्ताव है। A, B और C 
पढ़ने वाले छात्रो ंकी संख्या का नया अनुपातक्या होगा?

1)3 : 3 : 5
2)3 : 3 : 4
3)2 : 3 : 3
4)NOT


